A STUDY ON FOREIGN INVESTMENT & ITS IMPACT ON GROWTH OF FOOD & AGRICULTURE SECTOR IN INDIA

POOJA KUMARI RESEARCH SCHOLAR DEPARTMENT OF COMMERCE GOA UNIVERSITY GOA

DR. P.SRI RAM
ASST. PROFESSOR
DEPARTMENT OF COMMERCE
GOA UNIVERSITY
GOA

ABSTRACT

Foreign investment play very important role in the development of any county. It will not only bring the capital but will also bring technology, managerial skill and human capital which will helps the companies to improve capital availability, influence their short term and long term growth. According to theories, Foreign Investment will help to improve capital position and supports managerial efficiency which will increase the productivity of companies. In the light of above assumption, the present research paper made an attempt to study and analyze the impact of Foreign Investment on managerial efficiency in FDI based Companies in Food and Agriculture sector in India from 2007-2016. The study has been used appropriate statistical techniques simple regression analysis. The study concluded that Foreign Investment have a statically significant impact on ROI and ROE of in Food & Agriculture Sector in India at 1%, 5% and 10% significant level.

KEYWORDS

ROI, ROE, FI, FDI, BSE.

1. INTRODUCTION

oreign investment play very important role in the development of any county. It helps to fill the gap between demand and supply of scare resource in developing country like India and help in its growth & development. Foreign Investment has taken many forms and shapes over the years in Indian economy. There are various advantages and disadvantages attached to it. Foreign Investment in companies will improve capital availability which will influence their short term and long term growth of companies. The growth is determined by the efficiency factors of which managerial efficiency is vital. According to theories, Foreign Investment will help to improve capital position and supports managerial efficiency which will increase the productivity. Return on investment (ROI) and Return on equity (ROE) are taken as variable to examine the managerial efficiency of FDI based Companies. The present study will examine the impact of Foreign Investment on managerial efficiency with the help of regression techniques in FDI based Companies in Food and Agriculture sector in India.

2. LITERATURE REVIEW

(Azzam, Fouad, & Ghosh, 2013) aim is to examine the relationship between the degree of foreign ownership and finacial performance of 8,185 companies in Egypt from 2006 to 2010 by using panel data anaylsis. The study concluded that frim's return on assets (ROA), return on equity (ROE), debt ratio (DR) was positivly ralted to foreign ownership. It also shows that with increase in foreign ownership the fiancial performance of companies will also increase which is depend on sector specification. (De Backer & Maria, 2002) made an attempt to analyse domestice forms and foreign firms in differ industry and impact of foerign Direct Investment on economic strucure of host economy. The study concluede that growth of foreign firms are different form domestic firms and FDI is has negetive impact on economy. (Juliana, 2014) aim of this paper is to stduy the relation between the foreign ownership and manufactruing firm performace of 261 companies. Variable used are Rteurn on assets (ROA), Return on Equity (ROE) and Return on sales (ROS). The results show that there is no significnat relation between econoimc and fiancial perfromace and the existence of foreign owbnership. (Jayesh, 2012) aim is to find out the impact of foreign investment on financial performance, Corporate Performance with respect to managerial & technological efficiency, R&D and CSR of Indian companies considering the case study of BSE-30. Sample size of the study is 30 companies for BSE-30 was take for the period between 2002-2011. Simple regression technique was used to test the hypotheses along with simple descriptive statistics such as averages, simple growth rates, standard deviation, variance, co - variance. (K.Srinivasan, Deo, & Srinivasan) Aim is to examine the performance of select Foreign Direct Invested (FDI) assisted pharmaceutical units in India for the period from 1st April 1999 to 31st March 2008, 23 FDI assisted pharmaceutical units and evaluated through the following ratios Capital Structure Ratios, Liquidity Ratios, Profitability Ratios, and Return on Investment. The study concluded that the capital has been efficiently used in gearing profits, but there was a slight decline in return on equity due to over utilization of outsider's capital it was the major reason for showing negative effects (Rastogi,2014) to examine the pattern of inward FDI at the industry level test for the industry-specific characteristics that have been significant in attracting foreign investment in India during. The period of study is 2000-10. FDI inflows focus on a panel of top ten investing countries, as well as individual countries with relatively stringent environmental norms. Regressions analysis has been used for the study. The result shows that the pattern of FDI in India has been largely towards capital-intensive industries, and in polluting industries with large market size. But growth in FDI inflow failed to exploit scale economies and generate jobs during the last decade. (K.Srinivasan, Deo, & Srinivasan) aim is to examine the performance of select Foreign Direct Invested (FDI) pharmaceutical units in India for the period from 1st April 1999 to 31st March 2008, 23 FDI pharmaceutical units and evaluated through the following ratios Capital Structure Ratios, Liquidity Ratios, Profitability Ratios, Du Pont Analysis and Return on Investment. The study concluded that the FDI in pharmaceutical units for different ratios report a positive direction throughout the study and provoked the strength of Indian economy for the future.

3. OBJECTIVE

To Study the impact of Foreign Investment on Managerial Efficiency of FDI based companies in Food & Agriculture sector in India.

4. HYPOTHESIS

H01: Foreign Investment does not have a statically significant impact on ROI of FDI based companies in Food & Agriculture Sector in India.

H02: Foreign Investment does not have a statically significant impact on ROE of FDI based companies in Food & Agriculture Sector in India.

5. RESEARCH METHODOLOGY

This paper examines the impact of Foreign Investment on Managerial Efficiency of FDI based companies in Food and Agriculture sector in India. The data is collected form CMIE Prowess IQ data base from 2007 to 2016 (10 years) for companies consistently listed at BSE. The list of FDI Companies is selected on the basis of FDI definition given by IMF i.e. if Foreign Investment is 10% or more than 10% in the company then that company will be considered as FDI based companies and less than 10% Non- FDI based companies. The total number of Companies in CMIE Prowess IQ data base is 2399 out of which 22 companies are found to be FDI based companies. Foreign Investment is taken as independent variable and Return on Equity (ROE) & Return on Assets (ROA) as dependent variables. The statistical technique used in the paper is linear Regression analysis to find out the impact of foreign Investment on managerial efficiency of FDI based companies in Food & Agriculture Sector in India.

6. ANALYSIS AND INTERPRETATION

6.1. IMPACT OF FOREIGN INVESTMENT ON ROI OF FDI BASED COMPANIES IN FOOD & AGRICULTURE SECTOR IN INDIA

The first regression equation which includes Foreign Investment of FDI based companies in Food & Agriculture Sector in India during 2007 to 2016 and is regressed with Return on Investment (ROI) for the same period. The Regression Model is $ROI = \alpha 1 + 61 FI + \mu 1$

Where, ROI = Return on Investment (ROI), α 1 = constant, FI = Foreign Investment and μ 1 = Error term

Table-1 below presents the detail result data of Foreign Investment in Food and Agriculture Sector in India during 2007 to 2016 and regressed with ROI. The coefficient and constant value along with its P—values at 1%, 5%, and 10% significant level to study to know wither foreign Investment has positive impact on ROI in Food and Agriculture Sector in India. In order to test the hypothesis and meet the objective of the study, simple regression model was used by keeping Foreign Investment as the independent variable and ROI as dependent variables. The findings as per the regression results are blow.

TABLE 1: IMPACT OF FOREIGN INVESTMENT ON ROI OF FDI BASED COMPANIES IN FOOD & AGRICULTURE SECTOR IN INDIA

		ROI					
S.No	FDI Based Companies	con	Std err	t-stat	coef	Std err	t-stat
1	Agro Tech Foods Ltd.	-0.20	0.28	-0.72	0.01	0.01	1.27
2	Assam Company India Ltd.	0.09	0.10	0.88	0.00	0.00	-0.27
3	Britannia Industries Ltd.	37.1	7.70	4.83***	-0.73	0.15	-4.8***
4	Dharani Sugars & Chemicals Ltd.	0.22	0.19	1.14	-0.01	0.01	-0.64
5	Glaxosmithkline Consumer Ltd.	0.22	0.02	10.5***	0.00	0.00	-1.33
6	Godfrey Phillips India Ltd.	0.13	0.03	4.07***	0.00	0.00	2.25*
7	Goodricke Group Ltd.	0.12	0.02	6.55***	-	-	-
8	Harrisons Malayalam Ltd.	0.03	0.01	3.00**	-	-	-
9	Kore Foods Ltd.	0.64	0.48	1.33	-0.03	0.02	-1.35
10	Lotte India Corpn. Ltd.	0.05	0.01	4.99***	0.00	0.00	0.01
11	Mcleod Russel India Ltd.	0.66	0.46	1.43	-0.02	0.02	-1.18
12	Monsanto India Ltd.	362.	194.	1.87*	-5.03	2.70	-1.86*
13	Nestle India Ltd.	9.38	3.31	2.84**	-0.14	0.05	-2.71**
14	Ovobel Foods Ltd.	0.02	0.17	0.09	0.01	0.01	1.09
15	Ponni Sugars (Erode) Ltd.	0.24	0.21	1.14	-0.01	0.02	-0.51
16	Shree Renuka Sugars Ltd.	0.10	0.01	8.95***	0.00	0.00	-3.18**
17	Tarai Foods Ltd.	0.39	0.28	1.41	-	-	-
18	United Breweries Ltd.	-0.03	0.07	-0.45	0.00	0.00	2.53**
19	United Spirits Ltd.	0.13	0.03	4.51***	0.00	0.00	0.57
20	V S T Industries Ltd.	0.27	0.02	15.8***	-	-	-
21	Warren Tea Ltd.	0.12	0.11	1.10	0.00	0.00	0.16
22	Winsome Breweries Ltd.	0.08	0.01	11.0***	0.00	0.00	-2.3**

(Source: CMIE-Prowess & Author Compilation)

Table 2, Foreign Investment influence ROI highly significant (1% significance level) in 5 companies out of 22 FDI based Companies in Food and Agriculture Sector. FDI based Companies like Harrisons Malayalam Ltd, Nestle India Ltd, United Breweries Ltd and Winsome Breweries Ltd. have experienced a moderate impact of foreign investment on their ROI which appears form the fact that the coefficient P-value in case of such companies is found to be statistically significant at 5% significance level. Though at a low level, companies like Godfrey Phillips India Ltd and Monsanto India Ltd. Witnessed an impact of foreign investment on their ROI. In two companies, the coefficient P-value is statistically significant at 10% significance level.

TABLE 2: IMPACT OF FOREIGN INVESTMENT ON ROI OF FDI BASED COMPANIES IN FOOD AND AGRICULTURE SECTOR IN INDIA (SIGNIFICANCE AT 1%, 5%, 10%)

ROI						
1% Significance Level		5% Significance Level		10% Significance Level		
Constant	Coefficient	Constant	Coefficient	Constant	Coefficient	
-	Britannia Industries Ltd.	-	-	Godfrey Phillips India Ltd.	-	
Glaxosmithkline Consumer Ltd.	-	Harrisons Malaya- lam Ltd.		Monsanto India Ltd.	-	
Lotte India Corpn. Ltd.	Shree Renuka Sugars Ltd.	Nestle India Ltd.	United Breweries Ltd.	-	-	
V S T Industries Ltd.	-	-	Winsome Breweries Ltd.	-	-	

(Source: CMIE-Prowess & Author Compilation)

Over all out of 22 FDI based companies in Food and Agriculture Sector, 11 FDI based companies is observed to have influenced by ROI which is 50% of the total. Hence the null hypothesis i.e. there is no significant impact of foreign investment on ROI of FDI based companies in Food and Agriculture Sector in India is rejected.

TABLE 3: IMPACT OF FOREIGN INVESTMENT ON ROI OF FDI BASED COMPANIES IN FOOD AND AGRICULTURE SECTOR IN INDIA

(110 1 0101111102 111 270, 070, 2070,				
ROE (Not Significance at 1%, 5%, 10%)				
Agro Tech Foods Ltd. Mcleod Russel India Ltd.				
Assam Company India Ltd.	Ovobel Foods Ltd.			
Dharani Sugars & Chemicals Ltd.	Tarai Foods Ltd.			
Kore Foods Ltd.	Warren Tea Ltd.			

Source: CMIE-Prowess & Author Compilation

The remaining FDI based companies in Food and Agriculture Sector in India are statistically not significant at 1%, 5% and 10%. Hence null hypothesis is rejected where Foreign Investment dose not bring much impact on their ROI.

6.2. IMPACT OF FOREIGN INVESTMENT ON ROE OF FDI BASED COMPANIES IN FOOD & AGRICULTURE SECTOR IN INDIA

The second regression equation which includes Foreign Investment of FDI based companies in Food & Agriculture Sector in India during 2007 to 2016 and is regressed with Return on Equity (ROE) for the same period. The Regression Model is

$ROE = \alpha 2 + \beta 2 FI + \mu 2$

Where, ROE = Return on Equity (ROE), α 2 = constant, FI = Foreign Investment and μ 2 = Error Term

TABLE 4: IMPACT OF FOREIGN INVESTMENT ON ROE OF FDI BASED COMPANIES IN FOOD & AGRICULTURE SECTOR IN INDIA

S. No	FDI Based Companies	ROE					
		con	Std err	t-stat	coef	Std err	t-stat
1	Agro Tech Foods Ltd.	81.79	43.12	1.90*	-0.98	0.86	-1.13
2	Assam Company India Ltd.	8.95	5.86	1.53	-0.02	0.15	-0.12
3	Britannia Industries Ltd.	348	6896.1	5.05***	-680	135.5	-5.0***
4	Dharani Sugars & Chemicals Ltd.	-11.82	20.87	-0.57	1.35	0.98	1.38
5	Glaxosmithkline Consumer Ltd.	-43.22	21.42	-2.02*	2.12	0.38	5.6***
6	Godfrey Phillips India Ltd.	749.7	109.35	6.86***	-15.66	3.80	-4.1***
7	Goodricke Group Ltd.	21.20	2.65	8.01***	-	-	-
8	Harrisons Malayalam Ltd.	17.13	1.09	15.6***	-	-	-
9	Kore Foods Ltd.	2.15	1.85	1.16	-0.06	0.07	-0.78
10	Lotte India Corpn. Ltd.	36.76	3.60	10.2***	0.11	0.08	1.36
11	Mcleod Russel India Ltd.	129.5	51.91	2.50**	-4.31	2.07	-2.08*
12	Monsanto India Ltd.	-73.70	406	-1.81	1021.0	563.3	1.81
13	Nestle India Ltd.	-31.85	562.01	-5.4***	50.20	9.01	5.5***
14	Ovobel Foods Ltd.	2.71	2.77	0.98	0.34	0.21	1.65
15	Ponni Sugars (Erode) Ltd.	34.00	10.37	3.28**	-1.11	1.16	-0.96
16	Shree Renuka Sugars Ltd.	80.80	7.92	10.2***	-0.60	0.64	-0.95
17	Tarai Foods Ltd.	0.27	0.08	3.37***	-	-	-
18	United Breweries Ltd.	-67.22	461.40	-1.47	23.12	12.13	1.91*
19	United Spirits Ltd.	83.27	9.87	8.44***	1.48	0.36	4.1***
20	V S T Industries Ltd.	90.17	9.06	9.9***			1
21	Warren Tea Ltd.	4.64	5.81	0.80	0.21	0.12	1.77
22	Winsome Breweries Ltd.	1.77	0.26	6.9***	0.06	0.03	1.94*

(Source: CMIE-Prowess & Author Compilation)

In order to test the hypothesis and meet the objective of the study, simple regression model was used by keeping foreign investment as the independent variable and ROE as dependent variables. The findings as per the regression results are blow.

TABLE 5: IMPACT OF FOREIGN INVESTMENT ON ROE OF FDI BASED COMPANIES IN FOOD AND AGRICULTURE SECTOR IN INDIA (SIGNIFICANCE AT 1%, 5%, 10%)

ROE						
1% Significan	5% Significance L	evel	10% Significance Level			
Constant	onstant Coefficient Constant		Coeffi-	Constant	Coefficient	
			cient			
-	Britannia Industries Ltd.	-	-	Agro Tech Foods Ltd.	-	
Glaxosmithkline Consumer Ltd.	-	Ponni Sugars (Erode) Ltd.	-	Mcleod Russel India Ltd.	-	
	Godfrey Phillips India Ltd.	-	-	-	United Breweries Ltd.	
Goodricke Group Ltd.	Nestle India Ltd.	-	-	-	Winsome Breweries Ltd.	
Harrisons Malayalam Ltd.	United Spirits Ltd.	-	-	-	-	
Lotte India Corpn. Ltd.	-	-	-	-	-	
Shree Renuka Sugars Ltd.	-	-	-	-	-	
Tarai Foods Ltd.	V S T Industries Ltd.	-	-	-	-	

(Source: CMIE-Prowess & Author Compilation)

In the above table 5, Foreign Investment influence ROE highly significant (1% significance level) in 11 companies out of 22 FDI based Companies in Food and Agriculture Sector in India. Ponni Sugars (Erode) Ltd. have experienced a moderate impact of Foreign Investment on their ROE which appears form the fact that the coefficient P-value in case of such companies is found to be statistically significant at 5% significance level. In 4 companies, the coefficient P-value is statistically significant at 10% significance level.

Over all out of 22 FDI based companies in Food and Agriculture Sector, 16 FDI based companies is observed to have influenced by ROE which is more than 50% of the total. Hence the null hypothesis i.e there is no significant impact of foreign investment on ROE of FDI based companies in Food and Agriculture Sector in India is rejected.

TABLE 6: IMPACT OF FOREIGN INVESTMENT ON ROE OF FDI BASED COMPANIES IN FOOD AND AGRICULTURE SECTOR IN INDIA (NOT SIGNIFICANCE AT 1%, 5%, 10%)

Net Profit Margin (Not Significance at 1%, 5%, 10%)				
Assam Company India Ltd. Dharani Sugars & Chemicals Ltd.				
Kore Foods Ltd.	Ovobel Foods Ltd.			
Warren Tea Ltd.				

(Source: CMIE-Prowess & Author Compilation)

The remaining FDI based companies in Food and Agriculture Sector in India are statistically not significant at 1%, 5% and 10%. Hence null hypothesis is rejected where Foreign Investment dose not bring much impact on their ROE.

7. CONCLUSION

This paper examines the impact of Foreign Investment on Managerial Efficiency of FDI based companies Food & Agriculture sector in India. In order to analyse the impact at managerial level two dependent variables i.e return on investment (ROI) and return on equity (ROE) and Independent Variable Foreign Investment for the period of 10 years (2007-2016) are analyse by using simple regression technique.

The study concludes that 5 companies Britannia Industries Ltd, Glaxosmithkline Consumer Ltd, Lotte India Corpn. Ltd, Shree Renuka Sugars Ltd and V S T Industries Ltd Foreign Investment on their ROI is significant at 1%. FDI based Companies like Harrisons Malayalam Ltd, Nestle India Ltd, United Breweries Ltd and Winsome Breweries Ltd. significant at 5% and Godfrey Phillips India Ltd, Monsanto India Ltd. statistically significant at 10% significance level. Over all out of 22 FDI based companies 11 FDI based companies is observed to have influenced by ROI which is 50% of the total. Hence the null hypothesis i.e there is no significant impact of foreign investment on ROI of FDI based companies in Food and Agriculture Sector in India is rejected. Foreign Investment is also have impact on ROE, 11 companies significance at 1%, Ponni Sugars (Erode) Ltd at 5% significance level and 4 companies Agro Tech Foods Ltd, Mcleod Russel India Ltd, United Breweries Ltd and Winsome Breweries Ltd significant at 10% significance level. Over all out of 22 FDI based companies in Food and Agriculture Sector, 16 FDI based companies is observed to have influenced by ROE which is more than 50% of the total. Hence the null hypothesis i.e there is no significant impact of Foreign Investment on ROE of FDI based companies in Food and Agriculture Sector in India is rejected. The observation is based on many reasons varying from company to company due to lack of utilization of Foreign Investment.

REFERENCES

- 1. Amalendu, B. (2010). Financial Performance of Indian Pharmaceutical Industry A case study. Asian Journal of Management Research.
- 2. Azzam, I., Fouad, J., & Ghosh, D. (2013). Foreign Ownership and Financial Performance: Evidence from Egypt. International Journal of Business.
- 3. Devi, D. K., & Maheswari, U. (2015). A study on Financial Performance of Cipla ltd and Aurobindo Pharma ltd A Comparative Analysis. *Journal of Progressive Research in Social Sciences*.
- 4. Douma, S., George, R., & Kabir, R. (2002). Foreign and Domestic Ownership, Business groups and Firm Performance- Evidence from a large emerging market. *Online*.
- 5. Iuliana, M. (2014). The Impact of Foreign Ownership on the Performance of Romanian Liated Manufacturing Companies. *The International Journal of Management Science and Information Technology*.
- 6. Jayesh, T. J. (2012). Impact of Foreign Investments on Corporate Performance in India. Online
- 7. K. Srinivasan, Deo, M., & Srinivasan, P. (n.d.). Financial Performance of Foreign Direct Invested Pharmaceutical Units in India. Online.
- 8. Kumar, D. M. (2014). An empirical study in relationship between leverage and profitability in Bata India limited. *International Journal of Advance Research in Computer Science and Management Studies*.
- 9. Rastogi, R. (2014). What Attracts FDI in Indian Manufacturing Industries? Berlin Working Papers on Money, Finance, Trade and Development.

REQUEST FOR FEEDBACK

Dear Readers

At the very outset, International Journal of Research in Commerce & Management (IJRCM) acknowledges & appreciates your efforts in showing interest in our present issue under your kind perusal.

I would like to request you to supply your critical comments and suggestions about the material published in this issue, as well as on the journal as a whole, on our e-mail infoijrcm@gmail.com for further improvements in the interest of research.

If you have any queries, please feel free to contact us on our e-mail infoijrcm@gmail.com.

I am sure that your feedback and deliberations would make future issues better – a result of our joint effort.

Looking forward to an appropriate consideration.

With sincere regards

Thanking you profoundly

Academically yours

Sd/-

Co-ordinator

DISCLAIMER

The information and opinions presented in the Journal reflect the views of the authors and not of the Journal or its Editorial Board or the Publishers/Editors. Publication does not constitute endorsement by the journal. Neither the Journal nor its publishers/Editors/Editorial Board nor anyone else involved in creating, producing or delivering the journal or the materials contained therein, assumes any liability or responsibility for the accuracy, completeness, or usefulness of any information provided in the journal, nor shall they be liable for any direct, incidental, special, consequential or punitive damages arising out of the use of information/material contained in the journal. The journal, neither its publishers/Editors/ Editorial Board, nor any other party involved in the preparation of material contained in the journal represents or warrants that the information contained herein is in every respect accurate or complete, and they are not responsible for any errors or omissions or for the results obtained from the use of such material. Readers are encouraged to confirm the information contained herein with other sources. The responsibility of the contents and the opinions expressed in this journal are exclusively of the author (s) concerned.

ABOUT THE JOURNAL

In this age of Commerce, Economics, Computer, I.T. & Management and cut throat competition, a group of intellectuals felt the need to have some platform, where young and budding managers and academicians could express their views and discuss the problems among their peers. This journal was conceived with this noble intention in view. This journal has been introduced to give an opportunity for expressing refined and innovative ideas in this field. It is our humble endeavour to provide a springboard to the upcoming specialists and give a chance to know about the latest in the sphere of research and knowledge. We have taken a small step and we hope that with the active cooperation of like-minded scholars, we shall be able to serve the society with our humble efforts.







